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PART - I1: SCHOLASTIC APTITUDE TEST
{For Student of Class VIII)
Time : 90 Minutes Max. Marks : 90
INSTRUCTIONS TO CANDIDATES

Read the following instruction carefully before you open

the Question Booklet.

L. Answers are to be given on the same OMR Answer
Sheet provided for Part- 1.

2. There are W questions in this test booklet. All are
compulscry.

3. The Question Mumbers 91 - 110 bela ng to
Mathematics, 111 - 145 pertain to Science and
146 - 180 are on Social Science subjects.

4. Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR Answer
Sheet. Do not mark V' or ‘=" in the OMR sheet

3. Since the time allotted for this Question Paper is
very limited you should make the best use of it by
not spending too much Hme on any one question.

6. IFyou donot know the answer ko any question, do not
wiaste time on it and pass o to the next one. If time
permits, you can come hack to the questions, which
you have left in the firstinstanceand attempt them,

7. Rough work can be done anywhere in the Question
Booklet but not in the OMR sheet/ loose paper.

B. Eacheorrect answer will be awarded one mark,

9. Flease return the OMR Answer Sheet only to the
imvigilator after the test. You can retain Sy Ouestion
Bookdet,

10, Quote your seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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MATHEMATICS / sewflgLb

If 2 is added to all the observations, 3, &, 9,
12 and 15. Then the mean of the new
observations is :

(1 o (2) 11

(3) 55 (4) 45

If (a+b)=12 and a*—b*= —24 then the
value of a—bis ;

mn -2 {2y 2

(3 144 4) 36

Choose the incorrect skatement.

(1) The opposite interior angles of a
parallelogram are equal,

(2) The sum of the interior angles of a
parallelogram is 1807,

{3} The opposite sides of a parallelogram
are equal,

{4) The two diagonals bisect each other
in a paralielogram.

Find the percentage of shaded region in
the following figure,

=
T i

|

1 50% (2) 25%

(3 100% (4)  75%

1.

92.

93,

3,06, 9, 12 wihmd 15 s fu Senangg)
SUE|SEELEud 2 -8 Sal genre
Slens@h Lflu sreyseflar syref |
1y o 2 11

(3) 55 (&) 45

(a+b)=12 wogh a*~ b= - 24 erafich
a—b -ai Wiy :

5 -2 (@ 2

(31 144 (4) 36

Seumaen G hanmé setr ey,

(1) sm Genersrgbe afepdr
2 " Caramiiser o,

(2) @ Blearsrsdd o CGsmammE -
Faflem Shsea 180°

(3) m Gearsrsda edCrdrd
LSS EISET FLOLD.

4) @in Heasrsrifa ppea-
ehlC L RigeT genmsameny Bm-

FI0d Sl

ECyp Car@asdulPerer L gHldb,

lr_ﬁllapaﬂl_lllui.l_ LUgdlllen sgelssanss
& ITEmT &,

(1) 50% (2) 2
@ 100% (4)

[
EL -

~.

o

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

[copE[vIn| 11 | 20 |

95.

96,

97.

The following hexagonal shapes are taken
from Pascal's triangle. The value of x, y
and z ane :

(1) 6, 20, 28 (2) 10,35 10

(3) o, 35 28 (4) 6, 20, 35

In AABC shown in the figure, the value of
ris:

(1) &0° 2y 50

3y 1 (4y 45

The degree of the
(3p* +2q%) — (5q +6p°) + (7p*— 9p) is :

X pression

(1 3 @ 2

3 1 4 0

95.

97.
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96 gy LD < MG ST ERT Gl B TRl S 6T
uneusd apsGareamsdler LGH LTS
Senwih ereflled, x, ¥ wHOUD = -0
s apemGw

(1) & 20028 (2) 10, 35, 10

(3) 6 35,28 (4] 6,20 35

uLgdla Glenssliul Herar AABC

-[@ed v o-an whliy

A
1
VEAN
i
2 111'}1;;r 607,
D B C
(1) o0° (2) 50°
(M 110° {4) 45°

(3p? +2q7) - (5q + 6p7) + (Tp? — 9p) erenp
Garemaiuilen L :

(1) 3 2 2

3 1 (4} ©
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An office consists of Rhombus shaped
window of area 500 sq.cm, which has been
decorated with rhombus shaped glass
pieces and each of its length of the
diagonals are 10 cm and 5 cm.  Then, the
number of glass pieces required to cover
the: window is :

(1} 25 2 20

3 10 (4) 50

The difference between father's age and
his daughter's age is 32. If his age is thrice
as old as his daughter's age, then the age
of her father is :

(1) 48 (2) 32

(3} 24 (4) 52

When two parallel lines are cut by a
transversal, each pair of exterior angles
that lie on the same side of the transversal
are :

(1) supplementary
(2} complementary
{3} acute angle

{4) right angle

99,

100,
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N M@suasgdlen genend smlsgr
algelld o dTeTg. Sigeanr Lrliuaray
500 & Gls.aB. sihs metrararang £y fm
sTLSET euygelare saramrgs
sembaare Hohaefssiuc g,
SEHny semamrig e apemsoelll L
iareysen 10 &5, wppon 5 Ge.db.
aall ) Cgeme U P Am smisgy
algay Samentif sanbeefan erer
anflSansg |

(1) 25 (2} 20

(3) 10 (4) 50

ghavguiler cuLg WHHL SaumeELIL
waailen  awgy elSHursn 32,
SEMEE AT SIS e HenL L s
suwdlenr apERm WL Mg eTafld,
FHNE IO 61 eulLg

(1) 48 (2) 32

3 24 {4) 52

Grar @oarGsrhsd on Eués
Geugwimre Genllu@d Gurg,
EnsE dalgulldan gty usan
s HeveflSGasramusdr

{1} Wlene Blolys Goremriser
(2} Broys Camariiser
(3)  EnuGEramD

{#) GembGsmanid
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101.

102.

103.

In a magic triangle as given below, each
side should have the same sum —17. The
values of x, y and z are respectively :

2} C6
ok
5 I';_'i.. =17 L’:
=
-
) =% -8.-=7 2y =7 -9, -8
(3y 987 4} =7 =8 =7

The perimeter of parallelogram whose bwvo
adjacent sides are m+n and 3m=7n, is :

(1) Bm+ l6n {2) 4m-—6m

(3)  8m-lén (4} Sm-12n

In a competitive exam, 1 mark 15 given for
every correct answer and —1 mark for
A student
answered all the questions and scored

EVEry incorrect answer,

84 marks, though answered correctly for
126 questions. The number of questions
answered incorrectly is

{1y 24 (2) 56
(B 32 4y 23
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102.
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palQaumm usasdld e drar erarsatien
shiger —17 erafléd, 1, ¥ D@D z -&m
wHlL ST (pernEw :

m+n wHmnn 3m-n H&uupaD
SDEsHEs UssHSNTES DamarL
@enemarsflen sHmeTay
(1) 8m+16n (2)
(3) Bm—16n (4)

4m—6n

Em-12n

gn Gurligs Ceiald qdalamrm
sRuren el &@i suh Lokl LT
Lo LD qéulaumm & & [ T
aflen_&mio —1 wHOGuT sl
LBEADS. @@ WrERTeUT Hienend Sl
dlarrésEndEh alanwafgsmir.
et 126 sllennEsensm sflumen
eflen _wiafgsCGurlgin subwremreui
Glumm wgl (6 Uarser 94 0 ereild,
gapns dalwuaigs sbenriseflen
oT e el Ean &

(1) 24 (2) 56

(3) 32 @ 23
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104. The mean of first 10 natural numbers is :

(1) 55 (2] 45

(3 055 {4 35

105. The unit digit of 124 236 = 980 is :

Id

1) 4 2]
@) & [ 0

':L
106. The length of full roll ribbon is IF’I m.

The length of four and one-third of a roll

15

107. The simplified value of

f—3Y] (45307 [-12
|::L.— _'JJ+|:_5+E:+!LK
3 |2 a\ 12| |9

-

15 )
-53 ~12
) 43 & =
53 12
&) Ho
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(pgen 10 Bluic erameticr spmafl :
(1] 93 {2)] 45

(3 055 4] 35

124 30 % 980 <6 1-1b @)L GHled aurd
Srlg L) &T e

1y 4 2)) 2

(31 & {3 o

@iF BrLré smeflar Herb IE%LE.
LD 4 (PDF SRS DD G(H
sgpefich  ppanfles g LEdlubian
Ghorgs Berib

1 1
Bl 228
{1 ;& (2} B25b

. |
3 BI= B
3 8

—53 —-12
n = ) =
53 i 1
{3) 12 (4) =
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109.

110.

If a, b, ¢ is a Pythagorean triplet,
a=m?—n? and b=2mn, then c is :

(1) m?=n? (2) min?

m? +n?

(3)  2mn (4)

The number of natural numbers lying
between 9% and 102 :

(1) 17 (2) 18

(3) 19 {4) 20

The difference between the compound and
simple interest for 2 years is :

o 5

@ *()
3 A+I

4) P+l

108.

104.

110.
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a, b, c s @ Asraray aparmen
Ger@d. Cogid a=m?-n? boHpb
b=2mn erarfléy ¢ -ear Y

(1) m?=n? (2) m%n?
m? +n?

(3)  Zmn (4)

9 -G 1P -5 @eluGe & drar

Fiwer eraimsailen eramenildens -
(1) 17 (2) 18

(3) 19 &) 20

2 amhEEnsE i (HeLg&E0.
&l qu i & (LD &) en LG uwwarer
shlgghuman

o *555)
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(4] P+I
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SCIENCE / ifleflwisd
A clinical thermometer indicates 111. wmssa HaluBleawralurans
temperature from a minimum of SMDBEELLE Qeuufenawirs
to @ maximum of TTTE QEIJL'JU'[E]EEIWWH.JH.]I."D.
S suLs ey Flenewwrs
T (ol g i L B @ v e 1w w1

(1) 35°C, 42°C (2)  36°C, 43°C

(3) 34°C, 41°C (4)
QEL3SF

If a Marathon runner takes 6 hrs to

complete 42 km stretch, find his speed.

0°C, 100°C

(1) 1.94 km/hr
(2} 194 m/s
(3) 7m/s

(4) 7 km/hr

The chip in the SIM card is made up of
Silicon and Germanium because of their
lies between the conductor
and insulator.

(1} Magnetic Induction
(2)  Electrical Current
(3} Electrical Conductivity

{4) Resistance

112

113.

DETESS Snig LI,
(1) 35°C 42°C (2)  36°C, 43°C

(3) MC 41°C (4 0°C 100°C

@(h WrPSEren @l L OuBsw apf
122 8.8 girgdeen & wafl Cursdla
sLEEnrr erafild eufien Gausid !

(1) 1.94 &8 /wewf

(2)  1.84 8 /&l
(3 7.8 /efl,
(4) 7 &5,/ oemfl

Slbarrpsais vwarURsEE0UHD
Flal & mmam

8 Oysen LDD Ty Lb
Gmroratiugsmred syerenea. arbleneafle
seupler __ phaLgdled

whHme srourdsEsss Geldd
seanLo il 5 D,

(1) sIhss Siaa

2 SenGammiL b

@) BenspgsHoen

(4) lengenL
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114.

115.

116.

Statement 1

All l.'ll‘lj'E'-L‘l.'J doot form shadow.

Statement IT :

Shadows will be formed in the direct side
of light source,

{1) Both 1 and II are correct
{2] I1is wrong but II is correct.
{31 land II are wrong,

{4) 1as correct but 1l is wrong,

Match the following :
fa)  Coulomb N o
(b}  Ampere (i) £}

(¢] Conductivity fuij |1

(d) Ohm (v g

(1) (aldiii), (b)), (c)-(iv), (d)-(i)
(2} (@)-div), (b)), (i), (d)-{i)
(3} (a)-{iv). (bI-(iii), (c)-{ii). (o))
(4) (@), (b-{iv), (e)-(mi), (3

The most accurate clock is

(1) Atomic clock
(2) Digital clock
{3 Quartz clock
(4] Solar clock

10
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. snnpy 1

enengg)l Gummlsienn Bipdaanan
£ (heu T e &l coanen

Samnml 11:

Blpsraar  aliCurgn  geflapab
Elmémb dlossm Crisdasun
o (THEUTEHLD.

(1)  sndm [ whmb 0

2 samm 1 seumy <genre [T &

(% spm T opmib 1T sauy

(4) oyl &6 aperra 1 gaun)

. GUnmHgE.

@l sasmo i o
(B spohlwr (i) 1
) dlems dms (i) |
St
(d) g fiv) q
(1) daj=ii), (b)=(i), (ch-fiv), (d)-(u)
(2 {akiv), (bi-(it), (©)-i), (d)-(i)
(3} (ap{iv), (b)-{iii), (c)-(id). (d)-(2)
(4) (@i, (b)-{iv), (c)-(uii), (d)-{1)

- Wlsi madlus saew Garane

Slg HITLD :

(T} -Sigimes Sw &ETLD

{2)  erewmentlendd S ST
(} e ey Sig&mTiD

{4 @S sgsrmo
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117. Pick the odd one out.

118.

119.

120,

(1) Thrishul

i3)

(2}
(4)

Agni

Rohini Prithvi

A body vibrates 3000 times in one minube
if the speed of sound in air is 331 ms ™1,
then find the frequency of vibration.

60 Hz 100 Hz

(1)
(3]

(2)

50 Hz (4)

73 Hz

A transparent glass has a refractive index
1.3, What is the speed of light through
the plass 7

(1) 4x10% ms™!
(2) 2%x10° ms~1
(3) 3x10° ms™?
(4) 1.9%10% ms!

The number of images formed by a mirror
depends on the of the mirrors.

(1}
(2}
{3)
()

Angle of inclination
Plane angle

Angle of incidence
Angle of refraction

11
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117. QummEETS panenmd s fli6y,

114.

119.

120.

(1) <3| S

(3)

(2]
(4)

Bl

Gyrmaenf] 14l e

g Wurmar g Bl s8hE 3000
Sifireysener apURSHEDS. S
gelllflen Geusn 331 ms™ ! erafid) ygen

bl el suem
(1) 60 Hz

(3)

(2) 100 Hz

8 Hz (4] 75 Hz

% el sm(Bmeyl & e mig ull e
pafell s ereim 1,5 erafle, B4 5 T
aflGu  Geagid geflbidandams-
CGaisih :

(1) 4x10° ms—!
(2)
(3)

(4)

2% 108 ms—1
1% 108 ms—!

1.9% 10% ms—!

i Eaildy GErammn 19 b ok sa s
cramenfldens Sk sensda Gu
& T __ Eniigsy.

(1) smlieys Gsrensans

(2) seondk Geremdams
(3) i Ceramgeans
(4) eAHEsTansas
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1Z1.

122.

123.

The velocity of a car moving in a straight
line changes from 36 km/hr to 18 km/hr
in 10t seconds. Find its deceleration when
its deceleration is uniform.

(1} —05 m/s*

(2} —18m/s

(3} =30 m/s

(4) 05 m/st

Match the following !

{a) Monatomic (i} Sulphur
Molecule

(b} Diatomic (i) Inert gas
Molecule

(c) Triatomic fiii) Oxygen
Maolecule

{(d) Polyatomic {iv) Ozone
Molecule

(1) (@)= (b)), (eh(iv), (d)-{i)
(2)  (a)-{d), (b)-(ii), (-(iv). (-0
(3)  fa)=(i), (b=}, (c)-{av), {d)-(iis)
(4)  (a)-(iv). ()G, ()-{i), (cd)-{i)

Melting., Freezing, Rusting, Boiling,
Fermenting, Curdling, Condensation.

How many of them are FPhysical
changes ?

(1) 5 2 6
(3 4 4y 7

121,

122.

123.
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g  CpraCGsriGl  umengulld
36 £.8./wenfl erenp HensGasida
BlurEs CeraTgmEEn  STT
10 sflermguiler 18 &8, /wenfl eremp
HensGeaussdamen e dlng.
sisryreang Frren o fi wpHEss
Henend Qanemg HESTL ger ardlf
fpHesn

(1) —05d. /62

(2) —18 8. /662

(3) —30.6 /687

{4 058 /a2

GlummESE.

(a)  erem - ()
pLpaudin

by Fogm - (i)
fpevsan

(c) apeugmi - (i)
fpeuEsn I

(d)  ue mgm - (iv)
PLPE & [

(1) (a)={ii). (b)-{iii), (c)-(iv), (d}-{z)

(2)  {a)-{iid), (b-(ii). (c)=(iv). (d)-{1)

(3 {a)-(i), (D), (c)-{iv). (d)-(u)

() daj-(ivi (bi-(a) (1), (d)-{ii)

FeoLm
Lo
GU ML FHETT

<t e

@Garen

G emoumeuaneuDmer eEanen Bwh
Bwigy mDpRusET LstaTen 7
e (HEHSD, Lanse, HHUBREEW,

Gsrggsd présgsd, suEqmge,
<y, 6l T B el

(1) 3 {2} &

{3 4 (4) 7
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Yoast is a _
(1)
()
(3
(4)

Fungus
Catalyst
Micro-organism

All of the abowve

Assertion (A) :

[ee absorbs heat when it mells o form
walker,

Reason (R) :

The above phenomenon is an endothermic

change,

(1) (A) and (R) are true.

(2) (A) and (R) are false.

(3)  (A) is right but (R) does not explain
(A).

(4] (A) is right and (R} explains (A).

Match the following :

(a) Matural (i)  Cellulose
polymer

(b) Synthetic fii)  Skin
palymer

() Protein {iii) Hurmanbody
polymer

(d) Carbohydrate (iv] Plastic
polvmer

(1) {ah-(iid), (b)-(iv), ()-(ii). (d)-()

(2) (&)t (p)-{ii), (c)-(it), (dHav)

(3)  (a)-{i), (b)-(id). (c)-{), (d)-{iv)

(4)  (al-{iv). (b)-(ii). (c)-(1), (d)-{1it)
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124, rrEml sTENLIG)

125.

126,

(1)
(2)
3)
(4]

LylEhEnE

afl enem | &4)
) gyl
T T T

sampl (A) :

uaflésl gy Jaiiusas aip o ma
FBrrdms.

&nremnd (R) :

Gupsar. Blepea; Galiuh gheh
WOTDOD B LD,

(1) (A) whod (R} &fl.

(2) _(A) whmd (R) seumy.

(3)  (A) ofl mperrsy (R)(A)-m aSlend
et eoema.

4 (A) &fl Ll:-ﬂ':lg]jl.i} (), (A)-m cilen&
HRDS!

GRS 5.

fa) Ewpes (i) leearayFarmen
LI L e & ET

by Geswbens {iiy Gamed
L@l g SET

() urs (i) (oeflg o s
(NECVNIE. 35

(d) smGumman- (iv) Germeigs
LGl Lol SET

(1) (a)-{ii), (b)-(iv) (c)-(i). (d)-(i)

(2] (a)-{i), (b)-(iii). {c)-(id), {dp-(iv)

(31 (a){id), (b)-{iid). {c)-{i). (d}-{iv)

[4)  (a)={iv), (b)-(ii), {c)-(i), (d)-{iii)
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127, Plastic ealing bacteria : 127, Geslfl o angnin urdeflwur
(1) Azotobacter (1) =& _GLmursr
(2) Nitrosomonas (2)  enm CrrisrGomarme
(3) Ideonella sakaiensis (3) mloemdar sfusrdlso
(4) Salmonella (4)  eme b endrear
128. Find the incorrect pair. 128. Glunmiang Eleneraning GGl mHE
g LD,
(1} MNeutron - James Chadwick (1) fEls g - G smlalls
(2} Proton - John Dalton (2] ySpmiimer - fTER L irdiL_aw
(3} MNucleus - Ernest Rutherford (3) Syseafluen - giameul
B Ts LB (5
{4) Electron - ]J. Thomson (4)  ereudi_imen - Gm Gm. gmbaen
129, Carbon Monoxide leads to ; 129, maiuer GlarerEang(h -85
aufl aumESmE. T
{1) BRespiratory Problem (1) meursy Spsslanar
{2)  Global Warming (2} ees Desluwwword
(3  Acid Rain (3) <sblen wenyp
(4) Vomiting (4) eunmidl
14
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Pick out the anion of H,PO, :

1} PO

Pick out the correct pair/ pairs.

(a) Alkalis - water soluble bases
(b}  Bases - turns blue litmus to red
(€}  Acids - conducts electricity
(1) (a) only

{2) (b) and (c) only

(3) (a) and {¢) only

(4)  (c) only

The metal used in X-Ray machines :

(1) Copper

Silver

(2)

(3) Lead

Aluminium

(4)

15
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HSPD4 - Gt Gl'ﬂllluﬂﬂ -

1 PO @ PO,

gflwnen Glenew|Genaramars Csi

ClgPdsa,
(a) aEdisar - §fld sayum
& T EET
(b) smomsar - fa ol e smenen
Hauliurs Wb
(¢) emblevduisar - Senanydensd
&L &0
(1) (a) wpw
(2} () wHOD (e} Wb
(3] {a) wpgd {c) WCHD
4) () wi(Hb

X-s8T Qupbrisefie LwaLEES
Ll e Garsh ;

(1)
(2]
(3

FTLSiTLD
Gleugreafl
Erfwin

(4) Siguuilefluib
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133. Malch the following :

{a) Prop root (i} Betel

(b} St root (iij Banyan
(¢) Bulb (i) Sugarcane
(d) Climbing oot (iv) Garlic

(1) (a)-(id). (i), (c)-(iv), (d)-(3)
(2)  (a-(id), (b)-(iv), (€)-(0), (d)-{1)
(30 (a)-(i), (B)-(i), (c)-{iid), (dHiv)
(4)  (a)-{iv), (b)-(i), {c)-11), (d)-(1id)

134, Smallest seed in the plant kingdom :
(1) Croton (2) Orchid
(3) Pteridophyte  (4) Fungus

135. The fungal disease of Poultry

(1)  Salmonellosis
(3) Ranikhet

(3)  Anthrax

(4)  Aspergillus

136. The remedial measure for bleeding gums

iseating
(1} apple

(2) mango

(3) jack fruit

(4) citrus fruits

16
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EirmEg .

{a) e Geud i) Geupplena
(b) el Geuir (i) <HaWID
(€) @l (iif) SEHOY

(@) ubm Gaui  {iv) ew(

(1) (a)-{ii), (b)-(id), (c)-(iv), (d)-(1)
(2)  (a)-(iid), (b)-(iv). (c)=(i). (d)-id)
(3)  (@)-{i). (0)-(). (c)-(i). (d)-{iv)
(4} (@-{iv), (b)-{ii), {c)-(1), (d)}-(iii)

greur eeodlan Wss A sleng :
(1) @Grriier  (2) Syi&EL
(3)  Qufi@ireul’ (4) Lerens

Garfls@hés wereosllanme & 0-
cumEl BHmo

(1)  emaGwrbenearGarden

() rrefiaklal

(3)  =hHEyTEEL

(4)  esenLiTglldienay
SETSSY

roisefld Grsss sflass Siey srar
o ewenr Gauam(pib.

(1) =S liGler

(2) wrbuyd

(3) usTUULRD

(4]  Sllpeu Liprgen
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Each cell is interconnected with its

neighhuuring cells thrnugh opening
called :

(1} cyclodesmata

(2) plasmodesmata

(3} nucleodesmata

(4) protodesmata

The botanical name of coconut ;

(1)  Allium sativum

(2) Chyze sabiew

(3)  Cocos mucifera

(4  Cilrids sinwensis

Find out the incorrect pair/ pairs.

(a) Mollusca - hard body
without shell

(b}  Arthropoda - without
jointed legs

fc)  Platyhelminthes - Mame colls

(d) Annelida - segmented
body

(1) {a) enly

(2)  {c) and {d) only

(3) (e only

(4) {a) and (b} only

Name the filamentous Algae.

{1) Spirogyra

(2] Volvox

(3) Chlamydomonas
(4) Chlorella

17
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geutleumm Gadgyd Sisen Simad
earer  GlEdseniean (e sas
lEmemiemi SieumiLd :

(1) enssGenm GlduwmiLr

(2) HerrauGur Glawnmior

(3} BlupseflGur G snmer

4y ySprlGor Qe evwmior
Ggrusmben sreuraliva Qowir
(1)
(2)
(3)
(4)

eV Filan @b
FREMTET FL S ELNT
ErEan) Bl AT
i pai SlFararatiay

Cummmsns (5 enaw / 5 an e senars
g7 luiay b
(a) Glodglsiser - sgamoren

B L e
o g
Eldersena
(b) sSams&srabisdr - [([ElenaRTULEET
Elaam
STaMEET
(€] Sl ULpsEsaT - ST GlFdsar
(d) cumeTSFens - SEETL_M
Ly E&ET FETTTE) TG
8L 6
(1) {(a) wi(Rib
2) o) wpmn (d) wl B
(3 (o) i fBid
(4] (a) wppub (b) wCHE

Elenp e eenii Lrd

(1) evenuGgrensr

(2] cumEUNEED

(3] SermAGrEwrenman
(4)  Elermldyder
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141. The fluid inside the nucleus is known as

142,

143.

and outside the nucleus is

called as

(1) cytoplasm, protoplasm

{2} chloroplast, protoplast

(3} nucleoplasm, cytoplasm

(4) germplasm, endoplasm

Find the odd one ouat.

(1}
12}
(3)
(4)

Ginkgo biloba
Pirus
Psilotum
Cycas

Find the correct statements.

(a) Prions have both DNA and RNA.

(B)

Fermentation process carried out by
microorganisms results in the
production of organic acids, alcohol
and esters,

Yeast aids in fermentation with the

help of the enzyme Lipase.

(<)

(d} Chlamydomonas exhibits sexual and

asexual modes of reproduction.

(1)
(2)
(3)
(4)

(&), (b} and (c) only
(b) and (d) only
{a) and {c) only
(b}, (c) and (d) only

18

141.

142.

143,

www.Trb Tnpsc.Com

o lamellen eaGer wearen Sy
eremyh, GleuefGw o dver

il rsuLD GTEMTILD SHETp EHL

L(pEmE

(1} sl Gorarmsn, yBrml G-
Harmen

(2} Lm om0, yerm_ G-
Wlarmmaion

(3 FluseflBwmSarman, e G-
Harmab

(4) Ggmbderrsn, srerCGLmSarrsin
Cuimbsg gaans CaibtlsHs
SE LD

(1) gieGEr enuGamum

(2} - enuemen

(3)  ensGamiih

(4) enFESEy

sfluren mppssamersg Canp

QapEsayb.

(a) GlpwTe&ar g erell .. WHMLD
o, IF T 601 6 .~ e &Gl & T el g, (1 & -
(LD

b) mergmuElfserrd pacGumh
GErdlgsd flapeilan ppann &fin
Ul R&ET, SESRDTE WDDHDILD
STRULTEeT & maurdlenmean.

() meulaer epaGUE 6T amgID
GErduilen o gaillanma GlETES
galiled FFHUBRE nmen.

() SermrblCnCuorarmelie wma
whmh Lmsiiaar openmudla &em
CQumiEsd Hen_Aumpdng.

(1) fa), (b) wimd {c) wi G

{2)  (b) whpo (d) wi(H

(3] (a) wHmb (€] wifHn

{4)  (b). [c)} wdpbd (d) wi{Hud
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is a watery fluid that is present
in the area between the lens and the
COTnea.

(1)

Aqueous Humour
(2) Vitreous Humour
(3)

Conjunctiva

(4) Macular edema

145, Select the wrong pair/ pairs.

(a) Hinge joints Movement is
restricted to
one plane

(b} Condyloid - Movement

joints QCCUrs in
three planes

(c) Ball and Socket - Movement

joints OCCUrs in two
planes

(1) (a) only

() (c) only

(3)  (a) and (c) only

(4) (b and (c) only

19
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lcope[viu] 1 J 2o |

_ Qeenssmin, eflyfl Gleusdr-
UL aggsEn @en  Cw Brodydran
Slgrausin,

(1) aé&gﬁsm &lgeub

(2)

sl Mlwen e

(3] &SERFSEeur
(4) LDM&WEUT &TigLOm
145. Heummen Eenew/ g enamEmar§
Garhtlabaseab.
{a) Sdpplly Gm Slensudico
wil (R
[ElwsdaLD
(b) QpeETLenemrium - FLDETTE
op(B £ ensmefa
EwEsD
() upgs Sames -  Erawd
ol (5 Henssaie
ElissLD
(1) f{a) wif{po
(2) (€} wipb
(3} (a) gD (€) WD
(4) (b} wpgn (c) WD
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SOCIAL SCIENCE / Fops yiflellwed

Match the tollowing :

fa) Thiruvalangadu (i) Muhammad

Plates -bin-Tughlag
(b)  Anbil Flates () Rajendra
L hola
(¢} Copper Token ({iii) [tutmish
Currency
(dy - Silver Tonka (iv]  Sundara
hola

(1) {al-(id), (b)-(iv), (-11), (d)-fiii)
(2)  (ae(iv), (-], (c)-(i), ()=
() (@), (b)), (o) fivi, (d)-ii)
(4)  (a)=(i). (b)=(iii), (c}=(ii}. {cdj-{iv)

1% a famous traveller trom

Venice visited Kayal twice.

(1) Vasco-da Gama
(2) Christopher Columbus
(3) Marco Polo

(4) Bartholomew [z

The monolithic mega size ornamented
pillars are the wnique teature of the

style.

(1) Medieval Pandya
(2) Early Pandva

(3 Later Chola

(4) Early Chola

20
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146. GUMEEHE.

(a) meursdisTt® (i) psng Sen
GleuGu@ Sy e

(b)  emiemlen i @rrlghsly
Gale G L Gerpen

(o) Glely {iii)  Elevgl ey
I 0T L s T

(d) s () SGETE
Galeuerart Gerypen
T T R LA Pl 5 6T

(1) ()i, (b)-(iv), (c)-(i), (cdj-(iai)
(2)  G@)-{iv), (bhe(iii). (c)-(i), (d)-(ii)
(3) ()-(ii), (o)-(iii), (c)-(iv). (d)-{5)
() (a)-(i), (b)), ()-(if), (d)-(iv)

. Rlevefle Erlen & Gerps LspEubn

L et mem @rer® openn
FTILIEIHE SUHenE SEETIT,

(1) sumsEHET_&mnm

(2) SfeuGrur Gerabuen

(3 wirtsGer GurGsaon

(4)  wrrEsGamblur sy

uigeilerar & Ty
CeuaneniumBsienLen Sigl qhams
S0 ) ST 6T - GeEl
Saann eumiihs Leetlumgb,

(1) [Eenl&Emasll LImaarieLmser

(2) (pD&TEUL LT ig LT &eT

(3 Epsras Gamyprsdr

(4) pphsrad Csmprser
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Which of the following statement/
statements is/are correct 7

{a) Itutmish granted igtas (land) to

members of his army,

{b) Igta is the land granted to army
officials in lieu of a promotion.

{c} The iqta holder is called the iqtadar
or mugh.

{d) The iqtadar collected revenue from
his iqta.

(1} fa) and (b} only

{2)  (c)and (d) only

(3} (b) only

(4}  (a), (c) and (d) only

Akbar defeated Rana Uday Singh of
Mewar and captured the Fort of Chittoor
i :

(1) 1576 (2) 1569

(3} 1568 (4) 1556

%

www.Trb Tnpsc.Com

[CODE[VII] 11 | 20 |

149, Epaumevenaupmer sflwnen smpo/

150.

sppsmaEGsTHGEs 6 EaaD.

{fa) Glagdlas semgy v safla
verllwrpdlCwrirde Bl&srs

sevar (BlaviimeT) cugpiidlenm.

) "@&sr’ eremug  @rrgme
SflerilsEnss aprsiul
{5 6w atir g e wrUgeli&sETS
ClarpesourL. SawmEn.

(€) Heagensl Cuppeud FEsTETE
S@ag wed apenpEsU
LILL T,

(d) El&srEmT sansE auprRslulL
ol &0 i &6 erfl &l m i 3 & fl 6w g e
Aealig QaraTaum.

(1} fa) wogw (b) wbw

(2} () wpmo (d) wiHw

(3) (b) i

(4) (), {c) womD (d) whe

Cuoeurs ypErmen rramr e Siuflkians

&L @i Carps g
Hggnenrs esUUDHlemTT.
(1) 1576 (2) 1569

(3} 1568 4) 1356
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151.

152.

153.

Arrange the following in chronelogical
order and select the correct order.

(a) Battle of Haldighat
(b) Kanauj War

(c) Battle of Panipat Il
(d) Battle of Tarain

(1) (d)-{b}- () - (a)
(@) (@) -{c) - () - (a)
(3 (b)- <) - (d) - {a)
4 () - (b) - (a) - {d)

laid a solid foundation of
Bahmani Kingdom.
(1) Muhammad Shah [
(2) Mujahid
(3) Muhammad Shah I

4) Ala-ud-din Hasan Bahman Shah

Gold coins called Varahas were issued by

(1} Bahmani Sultans
{2} Vijayanagar Emperors
(3) FPalas

(4} Pratiharas

151.
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\Semeumin Hl&peysanar Smeddlro
vy aflesiuBsd  sflure
slenienwip CoihosBésayd

(a) @omdngsrit Gue

(b) memGemmggl Gumr

(c) Erer mb wreflul Gumi

(d) geopar Gumm

(1) {d)- (b} -{c)-(a)

(2} {d)-(c)-(b)-(a)

(3) (b} - (e} - (d) - (a)

(4 fe) - (b) - (a) - (d)

wt bl afl

= ré H B @ G T T

S FETEDG SHODGH DETHESUT

(1} (pgemb (pswg agr
(2)  pmréls
(3 Blrewomb Aps0s egr

(4] =seoneyen amse LIMben e

GUI THGTT GTEMGLD SRS [hiTosT LIl Sem et
leueul L sufrgmen

(1) wmflafl sdgransdr
(2)  sifgumsr Cuprsisa
(3 umsorEET

(4) dlrdlsmgrsar
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154. The founder of the city of Ajmer :

155.

156.

(1)  Mahipala
{2) Simharaji
i3} Chand Bardai
(4y  Prithviraj Chauhan
Find the incorrect pair.
(1) Qutb-ud-din -  Quwwat-ul-
-Aibak Islam-Masjid
{2)  Hutmish - Laid the
foundation
ol Cuth-
Minar
(3]  Aurangzeb - Alam gir
(4) Muhammad - Battle of
Ghori vs. Tarain

Pﬁt]“ril'ﬂj Chauhan

Pick the correct statement, statements.

(a)

(k)

(c)

1)
(2)
%
(4)

The first Portuguese Governor was
Francisco de Almeida,

Alponsa-de-Albuquerque
maintained friendly relations with
Vijayanagar Empire,

Goa was the early Portuguese
Capital in India. Later on it was
replaced by Cochin,

() only

{a) and {c) only
(a) and {b) only
All of the above
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154, sl maers Garppeilssei

155.

156.

(1)
()
(3
(4)

bl Lire

Fbioym ey

FhE UrTang
Simdlatigmn Casramen

FEUDTETT () enananiid Setori e,

(1}

(2}

(3}
(4

EhLde - Felab-ed-

gLk Bl dioasmb-uoainglls

Bepudsy - eaibampie
Bl ELE Mg -
il G

emriaEd - speanbdi

apswng Garfl - senpen Gum
wppis Spsl-
elllrmsy Glsersmen

Sl emaumedersudmdr efwner spm/
simsmag Campsfasean

(2}

{b)

()

(1}
(2}
{3
{4)

Gl e &l eno (s - kg~ 2y o Gleonds
wpEer Gurrsm iR gy EemEr
=B EUIT
SMOCGUTENET-g - BB YETE
dlmupsry  Currsi_en Bl
ymaner Gl Esramomm

CGaraur ppgela Curiggds-
wirsefien senabsrommbhss
WmE Gersflés wrbmbd G
TR TR Y

() (R

(a) Wmmpo {c) wi (Kb

() wpmid (b) wl Hb

0 1 G 5 5 LD
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157.

158,

159,

1640

The last European Country to come to
India as traders :

(1}  England (2} France

(3) Portugal (4) Denmark

Identify the Indian Leader who fought for
independence and British Official who
suppressed his/her revolt in 1857.

(1) Nana Saheb, Sir Colin Campbell
{2) Kunwar Singh, John Nicholson
(3} Lakshmibai, Henry Lawrence

(4} Bahadur Shah II, William Taylor

Find the odd one out,

(1) Chanda Sahib
{2) Muhammad Ak
(3) Nasir Jang

(4) Muzaffar Jang

Which of the landforms are created by the
B0d waves |

(1) Sea CLff
{2) Sea Caves
(3) Sea Arches

{4) All of the above
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dwunurrgflpsrs @pHwredhs
aumens L fihs e # mGrmindu e

(1) Eudorks (2
(3) Cumiggdss (4)

Wrmens

Gl emnmTE

1857-@a @rflu dpsmwssns
goulL  sassdlda urEbupp
Henaeul WHHD SHEGEms <S8
et i Gany s Flamflenuwd semifls.

(1)  meesr #ndll, i sreblen Ganiue
(2)  &emeufr iy, e Bisdsen
(3} elsmblumn, Hependl somyene

(4)  @rdrimb usgsnt agr, efldeilunn
G LG

Qurphans aaapststhEsds
EEYLD,

(1) #han sréld
) sing el
(3) mrElT g
(4) (psTUR FoEl

S BiEEaT T 1@mrr.§15ﬂ|_u'_l_
Baglsmmmd -

(1)  #L6D grhise

(2} LD @enasdr

(3] Sl suaneTeSEr

(4) Cuopsrar enenssn
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In which continent is the highest waterfal]
“Angel falls of Venezuela” located 7

(1) South America
{2} Africa
(3) North America
(4} Europe

Which is the leading coal praducer country
in the World ?

(1) Usa

(2] Australia
(3) China

{4) Indonesia

Which among the tollowing relates to
Eco-Touriem ?

{1} Jerusalem
(2) Angkorwat
(3} Rafting in Brahmaputra

(4}  Amazon Rain Forest

Expand JATA.

(1) International Aviation Travel
Association

{2} International Air Transportation
Association

(3) International Aviation and Tourism
Association
(4)  International Air Travel Agency
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2 eodlGaEiL & wipwomen ﬁﬁaﬁ@&.ﬁmnm
"Glevaflsameler g wed freli pad
BN hEIETET Eaer_Lh -

(1) Glgen oGwfisn
(2) s iifl&sn
(3) euL mEwflssr

1) wmCrmiur

Hlaxssfl e hugdula e afd apdremaf
sudl&mb pry -

1) yeofssr

(2) myandGrallwir

(3) dern

{4) @pCamGeanslium

S & e i auar su e & el Smmieum-

aiipE GErmyenLiugy ag 7

(1) dmmeGan

(2)  eSimGETTaur

(3)  Glgbwygrr Béullen & B wy
Wganas Bl

(4)  Gwsmen LOGH 5 7 (B T

IATA ~ sremugen eflfleurssin -

(1) International Awiation Travel

Asgociation

(2) International Air T ransportation
Associalion

{3} Intermational Aviation and Tourism
Association

(4)  International Air Travel Agency
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165.

166.

167,

The term ‘Mohorovicic discontinuity’
relabes to

(1) Sial

{2) Sima

(3) The Mantle

{4 The Core

Pick the odd one out.

{1} Pinatubo
(2 Mt Krakatoa
{3} St Helens

{4) Mt Stromboli

Match the following !

(a) Chirgque (it Kalahari
{t) Inselbergs (iiy < Pulicat
(¢} Loess (i) Germany
{d) Lagoon (iv} China

(1) (ak=(i), (bh-{iv), (e)-{1), (d)-(im)
(2} (8-, (oG, (-4, (di-(v)
(3)  (a)-(ii). (b)-{ ()-(iv), id-n)

(4 (akfv), (b)), G- (d)-()
26
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165. "‘GorGanrGrrelifs’ cemug

oL en GETfL el Lg

166.

167.

{1}

(3}
(4)

Fuwma
Flom
Feumd | Ledls s&meul )

£ @TETSLD I:ﬂnrr::I

Qunmbsts gaans CsTEEE0E

H@ LD

(1) HanrEptun

(2) spEsGLTaT

(3} Gaben’ Canaen
@) aermbGured
EumrH5E.

{a)  EFEEEET (i} sevgmril
hy e ewflogs (i) uipGeuh
gallld e seT &

(€)  Smhmig euemrLsn (i) Qg iroaf]

L B BT
) eluksfsda () dam
(1) {ap-{ii), (-, (el (-G}
(2)  (a){i), ()-gid, {e)-(i), (d)-(iv)
(%) (apHiit), (- (ch(iv]). ()
(4)  (aiv), (b)) {e)-(idi), (cd)-(ii)
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Which is known as the “Lungs of the
World” ?

(1)  Eastern Highlands of South America

{2) The Selvas

(3} The gran chaco

(4)  The slopes of the Andes

__and
‘Coffee Pot’ of the World,

are called the

(1) Colombia and Venezuela

(2}  Ecuador and Colombia

(3 I'-Tm_as Gerais and Sao Paulo

{4) Tierra Del Fuego and Falkland

Islands

Pick the odd one out,
(1) Dar-es-Salaam
(2}  Abidjan

Alexandria

(3)

(4)  Addis Ahaba

27
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(3 werme dlprwey whHmb srGer
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4 eigr idé SuyCGsr wpgn

cetrhanha Beymer
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(1) si-g-saomp
(2) = ggen
(3)  =GQessrhAfur

4) Sugev SuTur
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171. Tasmania is known as

171.

(1)

(3}

island.
Apple {2) Grapes
Oranges (4) Apricot

Pick out the correct statements.

()

(b)

fe)

(d)

(1)
(2}
12)

{4)

When Igneous and Sedimentary
rocks are subjected to high
temperature and pressure, the
original rocks get altered to form a
new kind of rock called metamorphic
rocks.

These rocks are hard in nature,

Theyv are non-crystalline rocks.

Omne of the world wonders Taj Mahal
in India was built with white marble,
a mEIﬂmmphic rock.

(a) and (k]
(b) and (c]
(c) and (d)

(a) and (d)
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171, LreGueflwr _ Bey erem
S igEsLufEng.
(1) g lnllen () Horieng
(3) AT (4) eumgmD

171.

shlunen sppésemms Caipblshs
LD,

{a) udls Geuliu B (LSS0 &mam-
s SUUTaD&ERD, Uigau
LTePD&EHE  WLIpDOanBE
o ruorflu unenmaen aren Gluwi
Qupdng.

(b) @Es0 LTERDEST S 60k HETEnL
B_enL_WIenE,

(c) @luurem&en L iy 5 &1 [0
LITEnMEETTE 2_aTernan.

{d) @;E.ﬁ]mrraﬁ]ﬁh o_eimar Lﬂf.‘i
sfswnissfld genpre HTE-
wanmd B erdiu urepset-
dlmmg emeuren  Gaudrenan
uafldigs  sheerd LU
LI

(1) {(a) wibgpo (b)
(2} (b) wHmD (<)
(3 () whpd (d)

(4] (a) o (d)
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174,

175.

176,
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il'he deepest and longest fresh water ake
in the World ;

{1}  Turkana (2)  Superior

(3) Tanganyika (4)  Victoria

The acts as the Chancellor of
State Universities,

{1} Chief Minister

(2} Governor

{3) State Education Minister

(4)  Deputy Chief Ministor

The Motor Vehicle Act came into force in
the vear :

(1) 1978
3 1988

{(2) 196§

(4)  198¢

The word " secular” was incorporated in
the Preamble through the
Amendment of the Indian Constibution.

44 th
In3ed

g2nd
ﬁ,] st

(1}
(3)

(21
(4)

The symbal @ Tepresents ;
(1) Bus Stop

(2)  Give Way

(3)  Sound Hormn

(4)  Bridge ahead
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174,
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(1)
(3)

42 -aug) 2y 44 -6y

61 -aug (4] 103 -aug

(V] sreip ity cranps atingyz

(M Cumbs Bosso

- ETT 1 T
(3) galdiumren
(4) Limaoh
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178. Choose the odd man out.

(1) Article 14 () Article 16

(3] Article 28 {4) Article 18

179. Who is called the 'Changing Agent of the
Saciety’ 7
(1) | Enhepmeur
(2) Investor
(3y Consumer

(4) Producer

180. “Money is what Money does” was said by

(1) Scitovsky
(2) Robertson
(3)  Sir John Hicks

(4) Adam Smith

=n0no-

178.

179.

180,
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